executing service gd.tempomaster_pro/.svcoverlayinfo

(no location available)
HIDE
Reports this week
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SHOW FULL LIST

Today, 11:09 AM on app version 27

Samsung Galaxy S5 LTE-A (kccat6), 2048MB RAM, Android 6.0
Report 1 of 58

COLLAPSE ALL

"main" tid=1 Native

"main" prio=5 tid=1 Native | group="main" sCount=1 dsCount=0 obj=0x75e67f68
self=oxb4824500 | sysTid=14448 nice=o cgrp=apps sched=0/o handle=oxb6f20b4c | state=S
schedstat=(3374232049 574513512 2534 ) utm=299 stm=38 core=3 HZ=100 |
stack=oxbe2aeo00-oxbe2boooo stackSize=8MB | held mutexes=

native: pc 0000000000040934 [/system/lib/libc.so (__epoll_pwait+20)

native: pc 0000000000019fc3 /system/lib/libc.so (epoll_pwait+26)

native: pc 0000000000019fd1 /system/lib/libc.so (epoll_wait+6)

native: pc ooooooooooo012ce7 [system/lib/libutils.so (_ZN7android6LoopergpollinnerEi+102)
native: pc 0000000000012f63 /system/lib/libutils.so
(_ZN7android6Looper8pollOnceEiPiS1_PPv+130)

native: pc 00000000000862c5 [system/lib/libandroid_runtime.so
(_ZN7android18NativeMessageQueue8pollOnceEP7_JNIEnVP8_jobjecti+22)

native: pc 0000000000000575 /system/framework/arm/boot.oat
(Java_android_os_MessageQueue_nativePollOnce__JI+96)

at android.os.MessageQueue.nativePollOnce (Native method)

at android.os.MessageQueue.next (MessageQueue.java:323)

at android.os.Looper.loop (Looper.java:143)

at android.app.ActivityThread.main (ActivityThread.java:7224)

at java.lang.reflect.Method.invoke! (Native method)

at com.android.internal.os.ZygotelnitsMethodAndArgsCaller.run (Zygotelnit.java:1230)
at com.android.internal.os.Zygotelnit.main (Zygotelnit.java:1120)



"ReferenceQueueDaemon" tid=3 Waiting

"ReferenceQueueDaemon" daemon prio=5 tid=3 Waiting | group="system" sCount=1
dsCount=0 obj=0x32c07100 self=oxadgc2foo | sysTid=14454 nice=o cgrp=apps sched=o0/o
handle=0xb3726930 | state=S schedstat=( 157850680 35295573 356 ) utm=7 stm=8 core=2
HZ=100 | stack=0xb3624000-0xb3626000 stackSize=1038KB | held mutexes=

at java.lang.Object.wait! (Native method)

- waiting on <oxobcgasb8> (a java.lang.Class<java.lang.ref.ReferenceQueue>)

at java.lang.DaemonssReferenceQueueDaemon.run (Daemons.java:147)

- locked <oxobcgasb8> (a java.lang.Class<java.lang.ref.ReferenceQueue>)

at java.lang.Thread.run (Thread.java:818)

"FinalizerWatchdogDaemon" tid=4 Sleeping

"FinalizerWatchdogDaemon" daemon prio=5 tid=4 Sleeping | group="system" sCount=1
dsCount=0 obj=0x32c07160 self=oxadgc3900 | sysTid=14456 nice=o cgrp=apps sched=0/o
handle=oxb3512930 | state=S schedstat=(1982398 5433959 25 ) utm=0 stm=0 core=3
HZ=100 | stack=0xb3410000-0xb3412000 stackSize=1038KB | held mutexes=

at java.lang.Thread.sleep! (Native method)

- sleeping on <oxogagcfgi> (a java.lang.Object)

at java.lang.Thread.sleep (Thread.java:1031)

- locked <oxo09agcfg1> (a java.lang.Object)

at java.lang.Thread.sleep (Thread.java:985)

at java.lang.DaemonssFinalizerWatchdogDaemon.sleepFor (Daemons.java:273)

at java.lang.DaemonssFinalizerWatchdogDaemon.waitForFinalization (Daemons.java:284)
at java.lang.DaemonssFinalizerWatchdogDaemon.run (Daemons.java:232)

at java.lang.Thread.run (Thread.java:818)

"FinalizerDaemon" tid=5 Waiting

"FinalizerDaemon" daemon prio=5 tid=5 Waiting | group="system" sCount=1 dsCount=0
obj=0x32co071c0 self=oxadgc3400 | sysTid=14455 nice=o cgrp=apps sched=0/o
handle=oxb361c930 | state=S schedstat=( 353330743 63732178 518 ) utm=24 stm=11 core=2
HZ=100 | stack=oxb351a000-0xb351c000 stackSize=1038KB | held mutexes=

at java.lang.Object.wait! (Native method)

- waiting on <oxosbibef6> (a java.lang.ref.ReferenceQueue)

at java.lang.Object.wait (Object.java:423)

at java.lang.ref.ReferenceQueue.remove (ReferenceQueue.java:101)

- locked <oxosbibef6> (a java.lang.ref.ReferenceQueue)

at java.lang.ref.ReferenceQueue.remove (ReferenceQueue.java:72)

at java.lang.DaemonssFinalizerDaemon.run (Daemons.java:185)

at java.lang.Thread.run (Thread.java:818)

"Binder_1" tid=7 Native

"Binder_1" prio=5 tid=7 Native | group="main" sCount=1 dsCount=0 obj=0x32c07280
self=oxadgc4doo | sysTid=14458 nice=o cgrp=apps sched=o/o handle=o0xb3202930 | state=S
schedstat=( 24079326 18796564 117 ) utm=2 stm=0 core=1 HZ=100 | stack=0xb3106000-
oxb3108000 stackSize=1014KB | held mutexes=

native: pc 0000000000040a5c /system/lib/libc.so (__ioctl+8)

native: pc 00000000000474dg [system/lib/libc.so (ioctl+14)



native: pc 000000000001e96d /system/lib/libbinder.so
(_ZN7android14IPCThreadState14talkWithDriverEb+132)

native: pc 000000000001ee83 [system/lib/libbinder.so
(_ZN7android14IPCThreadState2ogetAndExecuteCommandEv+6)
native: pc ooooooooooo1ef21 [system/lib/libbinder.so
(_ZN7android14IPCThreadState14joinThreadPoolEb+48)

native: pc 0000000000023875 /system/lib/libbinder.so (???)

native: pc 0000000000010075 /system/lib/libutils.so
(_ZN7android6Thread11_threadLoopEPv+112)

native: pc ooooooooo0061fdb /system/lib/libandroid_runtime.so
(_ZN7android14AndroidRuntimeasjavaThreadShellEPv+70)

native: pc 000000000003f4ff /system/lib/libc.so (_ZL15__pthread_startPv+30)
native: pc 0000000000019c97 /system/lib/libc.so (__start_thread+6)

"Binder_2" tid=8 Native

"Binder_2" prio=5 tid=8 Native | group="main" sCount=1 dsCount=0 obj=0x32c072€0
self=oxad8f5500 | sysTid=14459 nice=o cgrp=apps sched=o/o handle=oxb3ofeg30 | state=S
schedstat=(19951980 15714634 93 ) utm=0 stm=1 core=2 HZ=100 | stack=0xb3002000-
0xb3004000 stackSize=1014KB | held mutexes=

native: pc 0000000000040a5c /system/lib/libc.so (__ioctl+8)

native: pc 00000000000474d9 [system/lib/libc.so (ioctl+14)

native: pc 000000000001e96d /system/lib/libbinder.so
(_ZN7android14IPCThreadState14talkWithDriverEb+132)

native: pc 000000000001ee83 [system/lib/libbinder.so
(_ZN7yandroid14|PCThreadState2ogetAndExecuteCommandEv+6)

native: pc ooooooooooo1ef21 [system/lib/libbinder.so
(_ZN7android14IPCThreadState14joinThreadPoolEb+48)

native: pc 0000000000023875 [system/lib/libbinder.so (??7?)

native: pc 0000000000010075 /system/lib/libutils.so
(_ZN7android6Thread11_threadLoopEPv+112)

native: pc ooooooooooo061fdb /system/lib/libandroid_runtime.so
(_ZN7androidi4AndroidRuntimeasjavaThreadShellEPv+70)

native: pc 000000000003f4ff /system/lib/libc.so (_ZL15__pthread_startPv+30)

native: pc 0000000000019c97 /system/lib/libc.so (__start_thread+6)

"RenderThread" tid=g Native

"RenderThread" prio=5 tid=g Native | group="main" sCount=1 dsCount=0 obj=0x32c07340
self=oxadgc6100 | sysTid=14547 nice=-4 cgrp=apps sched=o/o handle=oxb2cbbg3o | state=S
schedstat=( 471211045 120595213 883 ) utm=17 stm=30 core=2 HZ=100 | stack=oxb2bbfooo-
oxb2bc1ooo stackSize=1014KB | held mutexes=

native: pc 0000000000040934 /system/lib/libc.so (__epoll_pwait+20)

native: pc 0000000000019fc3 /system/lib/libc.so (epoll_pwait+26)

native: pc 0000000000019fd1 /system/lib/libc.so (epoll_wait+6)

native: pc 0000000000012ce7 [system/lib/libutils.so (_ZN7android6LoopergpollinnerEi+102)
native: pc 0000000000012f63 [system/lib/libutils.so
(_ZN7android6Looper8pollOnceEiPiS1_PPv+130)

native: pc 0000000000021fof /system/lib/libhwui.so
(_ZN7androidiouirendereri2renderthread12RenderThreadiothreadLoopEv+62)



native: pc 0000000000010075 /system/lib/libutils.so
(_ZN7android6Thread11_threadLoopEPv+112)

native: pc ooooooooo0061fdb /system/lib/libandroid_runtime.so
(_ZN7android14AndroidRuntimeasjavaThreadShellEPv+70)

native: pc 000000000003f4ff /system/lib/libc.so (_ZL15__pthread_startPv+30)
native: pc 0000000000019c97 /system/lib/libc.so (__start_thread+6)

"hwuiTaska" tid=10 Native

"hwuiTaska" prio=5 tid=10 Native | group="main" sCount=1 dsCount=0 obj=0x32co73a0
self=oxad8f6900 | sysTid=14586 nice=-2 cgrp=apps sched=0/o handle=oxge28fg30 | state=S
schedstat=(921876 665417 6 ) utm=0 stm=0 core=2 HZ=100 | stack=0xg9e193000-
0x9e195000 stackSize=1014KB | held mutexes=

native: pc 00000000000176a0 /system/lib/libc.so (syscall+28)

native: pc 000000000003f31b /system/lib/libc.so
(_ZL33__pthread_cond_timedwait_relativeP23pthread_cond_internal_tP15pthread_mutex
_tPK8timespec+56)

native: pc 0000000000022895 /system/lib/libhwui.so (??7?)

native: pc 0000000000010075 /system/lib/libutils.so
(_ZN7android6Thread11_threadLoopEPv+112)

native: pc ooooooooooo061fdb /system/lib/libandroid_runtime.so
(_ZN7androidi4AndroidRuntimeisjavaThreadShellEPv+70)

native: pc 000000000003f4ff /system/lib/libc.so (_ZL15__pthread_startPv+30)

native: pc 0000000000019cq97 [system/lib/libc.so (__start_thread+6)

"pool-3-thread-1" tid=11 TimedWaiting

"pool-3-thread-1" daemon prio=5 tid=11 TimedWaiting | group="main" sCount=1 dsCount=0
obj=0x32c07400 self=oxb2b77100 | sysTid=14698 nice=0 cgrp=apps sched=0/o
handle=oxgcd3fg30 | state=S schedstat=( 318294531 62888960 52 ) utm=29 stm=2 core=1
HZ=100 | stack=oxgcc3dooo-oxgcc3fooo stackSize=1038KB | held mutexes=

at java.lang.Object.wait! (Native method)

- waiting on <oxod2172f7> (a java.lang.Object)

at java.lang.Thread.parkFors (Thread.java:1220)

- locked <oxod2172f7> (a java.lang.Object)

at sun.misc.Unsafe.park (Unsafe.java:299)

at java.util.concurrent.locks.LockSupport.parkNanos (LockSupport.java:198)

at java.util.concurrent.SynchronousQueuesTransferStack.awaitFulfill
(SynchronousQueue.java:430)

at java.util.concurrent.SynchronousQueuesTransferStack.transfer
(SynchronousQueue.java:332)

at java.util.concurrent.SynchronousQueue.poll (SynchronousQueue.java:911)

at java.util.concurrent.ThreadPoolExecutor.getTask (ThreadPoolExecutor.java:1036)

at java.util.concurrent.ThreadPoolExecutor.runWorker (ThreadPoolExecutor.java:1098)
at java.util.concurrent.ThreadPoolExecutorsWorker.run (ThreadPoolExecutor.java:588)
at java.lang.Thread.run (Thread.java:818)

"AsyncTask #1" tid=12 Waiting
"AsyncTask #1" prio=5 tid=12 Waiting | group="main" sCount=1 dsCount=0 obj=0x32c07460
self=oxb4825e00 | sysTid=14717 nice=10 cgrp=apps/bg_non_interactive sched=0/o



handle=ox9cg957930 | state=S schedstat=(1116982 2074842 11 ) utm=0 stm=0 core=3
HZ=100 | stack=0x9c855000-0x9c857000 stackSize=1038KB | held mutexes=

at java.lang.Object.wait! (Native method)

- waiting on <oxo0a4f6564> (a java.lang.Object)

at java.lang.Thread.parkFors (Thread.java:1220)

- locked <oxo0a4f6564> (a java.lang.Object)

at sun.misc.Unsafe.park (Unsafe.java:299)

at java.util.concurrent.locks.LockSupport.park (LockSupport.java:158)

at java.util.concurrent.locks.AbstractQueuedSynchronizergConditionObject.await
(AbstractQueuedSynchronizer.java:2013)

at java.util.concurrent.LinkedBlockingQueue.take (LinkedBlockingQueue.java:410)

at java.util.concurrent.ThreadPoolExecutor.getTask (ThreadPoolExecutor.java:1036)

at java.util.concurrent.ThreadPoolExecutor.runWorker (ThreadPoolExecutor.java:1098)
at java.util.concurrent.ThreadPoolExecutorsWorker.run (ThreadPoolExecutor.java:588)
at java.lang.Thread.run (Thread.java:818)

"Signal Catcher" tid=2 Runnable

"Signal Catcher" daemon prio=5 tid=2 Runnable | group="system" sCount=0 dsCount=0
obj=0x32co070a0 self=oxadg33100 | sysTid=14453 nice=o cgrp=apps sched=o0/o
handle=oxb382c930 | state=R schedstat=( 13021250 3673386 12 ) utm=1 stm=0 core=1
HZ=100 | stack=0xb3730000-0xb3732000 stackSize=1014KB | held mutexes="mutator
lock"(shared held)

native: pc 0000000000371dd1 /system/lib/libart.so
(_ZN3artisDumpNativeStackERNSt3__113basic_ostreamIcNSo_11char_traitsIcEEEEIPKcP
NS_gArtMethodEPv+160)

native: pc 000000000035144b [system/lib/libart.so
(_ZNK3art6Thread4DumpERNSt3__113basic_ostreamIcNS1_11ichar_traitslcEEEE+150)
native: pc 000000000035b343 /system/lib/libart.so
(_ZN3art14DumpCheckpoint3RunEPNS_6ThreadE+442)

native: pc 000000000035bfo1 /system/lib/libart.so
(_ZN3artioThreadListi3RunCheckpointEPNS_7ClosureE+212)

native: pc 000000000035c42f /system/lib/libart.so
(_ZN3artioThreadList4DumpERNSt3__113basic_ostreamlcNS1_11ichar_traitsIcEEEE+142)
native: pc 000000000035cb3f /system/lib/libart.so
(_ZN3art1ioThreadListi4DumpForSigQuitERNSt3__113basic_ostreamIcNSa1_11char_traitslc
EEEE+334)

native: pc 0000000000334c4f [system/lib/libart.so
(_ZN3artyRuntime14DumpForSigQuitERNSt3__113basic_ostreamIcNS1_11char_traitsIcEEE
E+74)

native: pc 000000000033bfbs /system/lib/libart.so
(_ZN3art13SignalCatcheri13HandleSigQuitEv+928)

native: pc 000000000033¢8bf /system/lib/libart.so (_ZN3art13SignalCatchersRunEPv+378)
native: pc 000000000003f4ff /system/lib/libc.so (_ZL15__pthread_startPv+30)

native: pc 0000000000019c97 /system/lib/libc.so (__start_thread+6)

"HeapTaskDaemon" tid=6 Blocked
"HeapTaskDaemon" daemon prio=5 tid=6 Blocked | group="system" sCount=1 dsCount=0
obj=0x32c07220 self=oxadgc2aoo0 | sysTid=14457 nice=o cgrp=apps sched=0/o



handle=oxb3408930 | state=S schedstat=( 506213488 50590883 152 ) utm=42 stm=8 core=0
HZ=100 | stack=0xb3306000-0xb3308000 stackSize=1038KB | held mutexes=
native: pc 00000000000176a4 [system/lib/libc.so (syscall+32)

native: pc 00000000000f6f15 [system/lib/libart.so
(_ZN3arti7ConditionVariablegTimedWaitEPNS_6ThreadExi+120)

native: pc oooooooooo1idyeds /system/lib/libart.so
(_ZN3art2gc13TaskProcessor7GetTaskEPNS_6ThreadE+240)

native: pc 00000000001d8381 /system/lib/libart.so
(_ZN3art2gc13TaskProcessori1RunAllTasksEPNS_6ThreadE+72)

native: pc 0000000000000377 /system/framework/arm/boot.oat
(Java_dalvik_system_VMRuntime_runHeapTasks__+74)

at dalvik.system.VMRuntime.runHeapTasks (Native method)

- waiting to lock an unknown object

at java.lang.DaemonssHeapTaskDaemon.run (Daemons.java:355)

at java.lang.Thread.run (Thread.java:818)



